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Solving Logarithms and Exponentials
1) Solve 2* =30 by two different methods describing your strategy.
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10) In mediaeval times there were 10,000 people living in a city that was struck by a
plague so that people began to die at an exponential rate daily.

After 6 days, there were only 8,500 people living. How many were living after three
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The number of bacteria at the end of each ‘hour i d exp ially, so
that the number at the end of one day was 220.

To the nearest million, how many bacteria were there after one week?
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12) The number of people living in a country is i ing each year exp ially so that
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The number of people in five years time is to be 6.25 million,
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8) There were 20 rabbits on an island. After six months the number of rabbits
increased to 100.
If the number of rabbits increased exponentially, then how many rabbits will there be at
the end of one year? AP t
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9) 3 years ago you had $120 in the bank. You now have $192.
If the amount of money at the end of each year increases exponentially, then how much
will you have in the bank after another 7 years? r’o,,.rw.;de annvally

(Assume that you do not deposit or withdraw any money)
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13) An $1,000 investment is made in a trust fund at an annual percentage rate of 12%,
compounded monthly. How long will it take the investment to reach $2,000? D ]
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compounded annually. How long will it take the investment to reach $15,500?
Suppose that another bank promised you that your account would reach $15,500 in
10 years, what annual interest would the second bank be paying?
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$1,750 = $1,000(1 + r)°
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